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Counting one character involves two steps.
First, we must increment

one bin in the histogram. /
Then we must

advance our
pointer to the

next character
in the string.

~

How can we determine which
histogram bin to increment?

The answer depends on the character.

We need to use conditional constructs.

But how?
Let’s take a look at the ASCII sequence.
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Here is an abbreviated version
of the ASCII table.

The characters divide into five groups.
The blue groups are letters.
The green groups are non-alphabetic.

We can use the vertical lines as
conditions.

Notice that
oif a character is less than 'A’,
othe character is not a letter.

Let’s start with the leftmost region.
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